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SECTION 1 : READING  1x10-10 (a)-S-gis
Read this short paragraph. There are 10 questions about the paragraph numbered 1-10. Choose the correct
answer A. B. C, or D for each question and mark your answers on the ANSWER SHEET. |

You have 206 bones in your body. Both boys and girls have the same number of honn_‘

They make up the framework, or skeleton, that supports the tissues and muscles. Your
bones are important because of the structure they provide and also_because of what.
they contain. Together {hey give your body shape, and—moved by your muscles—help |
you to run after a ball, take a walk, or 1ype a letter to your mom. They prmec} delicate |
body parts. They also store bone marrow lo produce blood cells and contain important |
minerals like calcium 3“2_ P.I“-’""CEE“@“ at can be released into your h'l’c:od. J

What is this text about? 2) How many bones are there in your body as human?
A. Itis a comparison between beys and girls A. Twohundred and sixty o
B. Itis about the body language B. Six hundred and twenty

_C: Itis about the bones in human body (D Tow hundred and six .

D. Itis ahorror story, D. Two thousand and twenly
3) Why are bones important according to passage? 4) Wny do bones store bone marrow?
A. Because they are beautiful A. Toproduce new bones

C. Because of the slructure they provide only
(D) Both B and C are correct

5) What are calcium and phosphorous called?
A.  They are foods

B They are minerals
C. They are bones
D.They are blood categories D. Non of the above.

7) Which of the following sentences is TRUE? B) The underlined word *delicate” in the passage means__,
A. Girls and boys have different number of bones. +*~ A. Easyto break
- B> Boys and girls have similar number of bones. B. Easylo move
C. Boys have 206 more bones than girls. ) Hard lo bend
D. Girls have double number of bones than boys. D. Hard to touch
9) Which of these are supported by the skeleton? 10) Which pair of verbs from the passage are synonyms?
The body muscles and lissues. A. Give and provide
. The blood cells and the bone marrow B. Sloe and produce

C. The bone marrow and the minerals C. Give and move

D. Non of the above D. Run and take
SECTION Il : YOCABULARY 1x10 =10 points
Directions: This section attempts to measure your understanding for English Vocabulary. tincludes the ite_(gs 11-20.
Choose the correct English word/phrase that best answers the question or completes the sentence. Then, in your an
;,Fe_'el, find the number of each question and blacken the lefter of the answer you have chosen

To maintain minerals.
Both B and C are correct.
ere are calclum and phosphorous released?
. Into your bone marrow
Into your blood stream
. Into your body muscles

B. Because of what they contain enly @ To produce bloed cells
6) Wh
A
L.
C

11) Wat does the word “ambulance” mean in English? 12) When do you usually use a “!mndage"?
A. Aninstrument used for analysing blood samples. A. When you cant s'lce_:p at night _
B. A van used for carrying patients to hospital. B. When you are afraid of something
C. A machine which is used for making x-rays. L When you cut your :‘arm C‘r;' finger.
D. A place where students can make experiments. D. When you cant eat enough.

T.me/kabooltep T.me/Doctor futurel




T.me/kabooltep

*
[

T.me/Doctor futurel [5')&5-:;-" &L—;

[73) What medical device is used for giving injectionst o
A. syringe
B. necdle
C. dropper
D. test-tube

14) A __is a place where experiments are usually made?
A. laboratory
B. library
C. reservoir
D. canteen

h 15) A persan who sells medicine in a pharmacy is__ |

A, medicinist
. phnrrn:cisf
C. pcnunisr

.| 16) Which word pairs are names of diseases in English?

A. Pharynx and larynx
B. Malaria and cholera
C. Dentist and nurse
D. Crocodile and spake

D. physician .
17) A health professional trained 10 support and care for~

women during pregnancy, labour and birth is &

A. aninfant
B. atechnician
C. a pediatrician
D. amidwifle

'| 18) A branch of science that studies body structure of

humans, animals, and other living organisms’ is_.
A. Psychology

B. Sociology

C. Astronomy

D. Anatomy

19) The doctor specialized in treating heart diseases is ™.
A. Obsietrician
* B. Cardiologist
C. Pediatrician
D. Vetennarian

20) For analyzing blood samples doctors usually use .
A. 1elescopes
B. microscopes
C. stethoscopes
-D. Non of the above

SECTION Il : GRAMMAR 1x10 =10 points

This section attempls to mzasure your understanding for EngliS Grammar. It includes the items 21-20, They are either questions or
incomplete santences and beneath each question f sentence, you will see four answers marked A, B, C, and D. Chocse the comect
answers. Then, in your answer sheet, find the number of each question and blacken the leter of the answer you have chosen.

o

P T T

&
L s f b .

21) Where Jaber Bin Hayyan born?
A. are. —
B. was
C. has
D. did

22) The Central Laboratory _____ at Tehreer Streel
A. locate
B. islocates
C. islocaled-
D. are located

23) Haw
A. much «
B. often
C. many

D. All of the above

health care centres are there in your city?...

24) We will not have any Botany lectures ___ Thursdays.
A. in
B. al
C: on
D. of

25) Which of the following words Is an adverb in English?2

A. care_
B. caring

C. careful = —

D. carefully

26) ___ runny nose and fever symptoms of malaria?
A ls
B. Are-
C. Do
D. Have

27) My uncle had a blurry vision __ he visited an aptician."_, =

A. because
B. so.
C. bul
D. in order lo

28) Dr, Ahmed ___ us a lecture on Biochemistry yesterday.
A. gives
B. gave
C. isgiving
D. hasaiven

29) Whenis lhe date of this medicine?
A. manufactured
B. manufacturing
C. manufactures

D. Non of the above

30) Recently, COVID-19 ____very rapidly in many regio
A. have spread -
B. hasspread
C. has spreading
D. is spread

GO0 LUCK.




